3

OPTION A

Parts List
Item Part Number Part Name Qty Description

1 |QVO03_RF_AA000 [Rear fork base v47 1
2 |QV03_RF_ABO00O |Rear fork horn left v123 1 |QV03_RF_ABO00OO
3 |QV03_RF_ACO000 |Rear fork horn right v92 1 |QV03_RF_ACO000
4 |QVO03_RF_ADO00 [QVO03 Rear fork axle v131 1 |QV03_RF_ADO000
5 |QV03_RF_AE000 |QV03 Rear fork lower 1 |QV03_RF_AEO000

rear axle arm v18
7 |QV03_RF_AIO00 |Rear shock damper v8 2 |QV03_RF_AIO000
8 |QV03 _RF _P002 |Screw M6x30DIN912A2| 2 |QV03 _RF_P002
9 |QV03_RF_P004 |LocknutM5 DIN 125 A2 2 |QV03_RF_P004
10 |QV0O3_RF _P005 |[Screw M5x20 DIN912A2| 9
11 |QV03_RF_P006 |Washer M5 DIN 125 A2 8
12 |QV03_RF_AHO000 |[Shock damper v7 2 |QV03_RF_AH000
13 |QV03_RF_AGO000 [Rear fork back axle arm 1 |QV03_RF_AGO000

Dept. Technical reference Created by Approved by

Flaviu Cioloca 25.03.2019

Document type Document status

Title Project Scale

QV03_RF_A000| QV03 1:4

DWG No.

QV03 Rear fork
| 7

Rev. Date of issue Sheet
1/2
| 8



OPTION B:
Includes:
-QV03_RF_AF000
-QV03_RF_ADO0001.1

«_J

Parts List
Item Part Number Part Name Qty Description
1 |QVO03_RF_AA000 |Rear fork base v47 1
2 |QV03_RF_ABO00O |Rear fork horn left v123 1 |QV03_RF_ABO00O
3 |QV03_RF_ACO000 |Rear fork horn right v92 1 |QV03_RF_AC000
4 |QVO03_RF_ADO00 |QV03 Rear fork axle v131 1 |QV03_RF_ADO006
5 |QV03_RF_AEO000 |QVO03 Rear fork lower rear 1 |QV03_RF_AEO000
axle arm v18
6 |QV03_RF_AF000 |Rear fork braking 2 |QV03_RF_AF000
7 |QVO03_RF_AIO00 |Rear shock damper v8 2 |QV03_RF_AI000
8 |QV03_RF_P002 Screw M6x30 DIN 912 A2 2 |QV03_RF_P002
9 |QV03_RF_P004 Locknut M5 DIN 125 A2 2 |QV03_RF_P004
10 |QV03_RF_P005 Screw M5x20 DIN 912 A2 9
11 |QV03_RF_P006 Washer M5 DIN 125 A2 8
12 |QV03_RF_AHO000 |Shock damper v7 2 |QV03_RF_AHO000
13 |QVO03_RF_AGO000 [Rear fork back axle arm 1 |QV03_RF_AGO00
0
14 |QV03_RF_P003 Lock nut M6 DIN 985 A2 2 |QV03_RF_P003
(1)
Dept. Technical reference Created by Approved by

Flaviu Cioloca 25.03.2019

Document type Document status

Title Project Scale

QV03 Rear fork| QV03 1:4

DWG No.

QV03 Rear fork
| 7

Rev. Date of issue Sheet
2/2
| 8




	Sheets and Views
	Sheet1
	QV03 Rear fork


